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OPTION -A
( Plant Anatomy and Embryology)
Paper : BOT-HG-4016/BOT-RC-4016
1. Answer very briefly : 1 x7=7

(@) What is the only living cell present in
xylem tissue ?

TRETE 9F GG Gifae (@F e

(b) Write the tvpe of vascular bundle 1n
dicot root.

faTigergl Tlagna More (sie g exzke=
ara e

(c) Who discovered the process of double
fertilization ?

fa-sréam efaal (@ nfamr sfafe @
(d) What type of fruit does not bear seeds ?
fe «acia @iz qm «@e a1 Y waras

fe) What type of endosperm is found in
wheat ?

iradeTe & q@aq e (ol Ty
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() What s cambium ?
faar &7
(g) What are sunken stomata ?

Write briefly : 2x4=8

5 [ ¢
(a) Quiescent centre (g @™)

(b) Parachute mechanism of seed dispersal
S [T (RS FHE
(c/ Embryo sac CRIGISY
(d) Annual rings GLEGE)
Answer any three of the following :
5x3=15
woe SrEe 4 fer fofabra Tel o ¢

(a) Difference between the internal
structure of dicot and monocot stems.

BTG W GIIGAE]  SEME IIGI
SR St 21T |
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(b) Write briefly on heartwood and sap-
" wood.

i Y S PREZ Y Foir 57 w4l |
(c) Anatomical features of xemophytes.
e Sfgra SrerEal 5o |

(d) Describe the important theories
relating to the organisation of root

apex.
e Ao S Sige wRgelf TSR
et 41 |

(e) What is double fertilization ? Write
briefly about the significance of double
fertilization.

f-frapn f@e fo facaead wleoEdmgz szg?zf»
fEvalt |

4, Answer any three of the following :
10x3=30

e fwal frrear feranrq Tea i g

(a) What 1s meristematic tissue ? How are

they classified ? erte briefly about
them. 2+2+6=10

oIgE w6l @ TR (fiReem @rta @
W7 AR [AErn vt e |
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extrastelar secondary

] h
(b) Describe the with  suitable

growth in dicots

illustration. Distingui-_sh b{'fFWEE‘ﬂ
fascicular and mterfasmcular
cambium. 7+3=10

Wﬁ%ﬁ@%ﬂmwmmﬁ’m
e 2k 40 fogad W@ 20

(c) Describe about the contrivances for
cross pollination in plants.

(d) How are functional megaspore and
embryo sac formed ? Describe various
types of embryo sac developments in
angiosperms with neat diagram.

2+48=10

PRES ANAY R FEAGR (AT oI5 T 9
Aopoie Tfgra fafem ow@a seia@@ st
+f o ara oz 2 =41 |

(¢) What is permanent tissue ? Describe

different types of simple tissues with
neat diagram. 2+8=10
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7 7 fr Foprg [fen a7 Fl
zefat frzml |

() What is polyembryony ? Who first
reported the phenomenon of
polyembryony ? Discribe briefly about
the cleavage polyembryony with neat
diagram. 2+1+7=10

Feeel 67 (P YA qgEere]  fAqrE
sl ? favael aeaerer foasiz 2t =1 |
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